H—SHEHRN (BT TEREBMIERR)
ENBMEEINZETRE

(B) ¥3064R18 () F3143H31H

(447 : /)
BERE FE(A) SRE(B) ER(A)-(B) =

BEENA 85, 600, 000 85, 871, 371 271,371
EARFIBHENBIIA 252, 474 252, 474 0
= ”A SHAISRLSIA 1,100 1,199 -99
2| |zomomA 795, 000 813, 975 -18, 975
B | EREBIRAGT (1) 86, 648, 574 86, 939, 019 290, 445
i’ NS, 61, 800, 000 61,371, 360 428, 640
o] |mmemsm 8,960, 000 7,658, 968 1,301,032
3 | |mmEzm 6, 100, 100 5,163, 804 936, 296
IR | | g s 252, 474 252, 474 0
2| |zomoxs 700, 000 693, 369 6, 631
BEEBLLE (2) 77,812, 574 75,139, 975 2,672, 599
BEEDERINEESR (3) = (1) - (2) 8, 836, 000 11,799, 044 -2, 963, 044
MRS IR 1,000, 000 1,000, 000 0
| 4y s EA ST 0 0
A |z oo S LB 0 0
% HEEREEMMEUNAGT (4) 1, 000, 000 1, 000, 000 0
£ RFEREASTRERSTH 2,184,000 2,184,000 0
[ EEEEREZH 2, 400, 000 2,398, 304 1, 696
2 z BIEAER - B 0 0
n| [EotommmEmScsan 0 0
% HEsREEMmESZ AT (5) 4,584, 000 4,582, 304 1, 696
MR mEESRINZERE (6) = (4) - (5) -3, 584, 000 -3, 582, 304 -1, 696
o]  |HECEETRERA 0 0
1ty u)% ZOAMDEENCLBUIA 500, 000 0 500, 000
?) ZOAMDEEINAGT (7) 500, 000 0 500, 000
g EREEELEA LSRR 0 0
I % | EES T 5, 000, 000 5,000, 000 0
£ || romoEBC LR 500, 000 0 500, 000
3| [comomBzHE (8) 5, 500, 000 5, 000, 000 500, 000
u} TOMOEEERUNZZEFE (9) = (7) — (8) -5, 000, 000 -5, 000, 000 0
FlagEzE (10) 252,000 252,000
LHIERINTALESET (11) = (3) + (6) + (9) — (10) 0 3,216, 740 -3, 216, 740
AR ZINERES (12) 12,282,192 -12, 282,192
LHHRZINESES (11) + (12) 0 15, 498, 932 -15, 498, 932




